Efficiency vs Dxy(PV)

5 10 15 20
TP dxv(PV) (cm)

or{g inal” 10 Oevt

it
it cpe‘OK 100

fit’ cpeOK_SORTRZZ 1000evt

| fit_cpeOK_SORTRZ2_TESTOUTLIERS 1000evt

0.2 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.2

efficiency vs dz(PV)
o o
o o N
J J J
N N H

I
N
J

o
[N}
T

Ratio
-
T
1]

30 -20 -10 O 10 20 30
TP dz(PV) (cm)

0.95!

Efficiency vs Dz(PV)

st
a
=]
ps 1 Srmtamemsesasesesenaes
> :
> .
2 0.8 T
g :
g :
£ :
0.6 ERTEPLE -
0.4 ERRLEES ‘-
0.2f- 4+ feeeenns i
i
g™ '
3
o
| ISRESOD OO O 10 § DN W 0 IO
0.95

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


